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SECTION 10

1. 4Z={..,-8,-4,0,4
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Answers to Odd-Numbered Exercises

(1,2, 3)
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14+4Z = (.., ~7,-3,1 59, .. )
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34+4Z={-,~5,-1,3.7.11,...)

(2) = {0, 2,4,6,8, 10}, 1 + (2) =113 53729, 11}

(18) = {0, 18}, 1 + (18) = {1,19},2 + (18) = 12:20) 5
{0, 12}, (o1, 8,3, {5, 1}, {p3, &,}. Not the same.

{ro, 02}, {p1, p3}, {wi, pal, {81, 85}

Yes, we get a coset group isomorphic to the Klein 4-group V.

17+ (18) = {17, 35}
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G'="7s: subgroup H = 7,.

Impossible. The number of cells must divide the order of the group, and 12 does not divide 6.




